Question 4G [Spring 16: Landlord-Tenant](we covered some of this)
Comments: Common errors:  not knowing which rules only applied in some jurisdictions (duty to disclose, duty to mitigate); listing the elements of causes of action without applying them (duty to disclose, fraud, builder's warranty);  not applying facts both ways (leaks might or might not have made unit unihabitable; fear of boyfriend miught not be reasonable because subjective; might be reasonable because she has to live under same roof).  Only major legal quibble:  strict and intermediate scrutiny are standards applied to state discrimination, not to private action.  Private discrimination is barred by sta-tutes.  Whether the sex discrimination, if any, was actionable depends on the statutory structure, not on a level of scrutiny.

Question 4G:  Model #1:  First check statutes, caselaw, housing codes.  Laura may have a cause of action against T for failure to disclose a materially affecting defect (Johnson).  She may also be able to sue T for violating the lease by attempting to sub-let it.  T may be able to block Johnson action on several grounds, would also be able to argue waiva of his rights is not allowed, that L violated his warranty of habitablity (Javins), and that L had a duty to mitigate damages.  Also, that L withheld granting approval of sub without a valid reason or, alternatively, that he was attempting to assign and not sub anyway.

WAIVER OF RIGHTS:  Generally, tenants cannot waive statutory rights.  We don't want big bad L's forcing T's to waive away everything the law has given them.  Unfair bargaining power, lack of adequate affordable housing, and homeless problem all work to a supply and demand situation where L's could force T's to waive away everything, thus creating slums.  On the the other hand, bargain power and knowledge may be fairly even here.  We are dealing with two knowledgeable people and court shouldn't block T's ability to trade on his skills to get him a cheaper rate.  If he was a custodian for L, L could rent him a cheaper apt so why not just do it the other way around.

ASSIGNMENT/SUB:  Lease says T may sub only with L's consent.  Courts interpret this strictly; if it doesn't mention assignment, the T can assign.   Ass=T giving all his interst to T2. whereas Sub= T giving something less than he has to T2.  T2  in this case is Alan. Question #1.  Since Tony asked Alan to "take over his lease", it seems as though this was an ass.,  allowable under the lease.  On the other hand, if this were an attempt at a sub, can T sublet it?

L'S CONSENT:  Generally speaking courts will interpret this as reasonable consent.  Is Alan solvent?  Yes "plenty of money" Is his credit as good as T's?  We don't know.   Will A fix plumbing?  Yes he could easily afford to fix plumbing.  So what is L's {reasonable} refusal based on?  Alan, (1) Re-minds her of boyfriend and (2) is uncomfortable w/ such a large person.  
Boyfriend: is #1 reasonable refusal?  on first glance it doesn't seem to be, but there is a question of L's enjoy-ment.  Having "trouble finding a tenant for her side of du-plex"  she has moved in.  Being that close to someone who really makes her uncomfortable may be a defense for L.  On the other hand, this is a duplex; although they are techni-cally under one roof, it is in fact poss. that they would never see each other.  Duplex has separate kit., bath & door so intimacy and privacy arguments have less weight.

LARGE SIZE:  Is #2  A reasonable ground?  Generally same type of Args from above would apply but with, perhaps, a little more force.  Is L worried for her life?  Was she raped by a large man who had a boxer type musc. body?  If so, L is going to have a much better argument.  On the other hand, it is a duplex (see above)  Additionally, if court be-lieves that a reason justification for private property is a personality theory and L could convince court that in such a small time (difficult) she has become personally attached dreaming about, thinking etc., court will look more favora-bly on her.  This is further confused when L rents to a wo-man B of same size as A.  w/ rape-type argument, it may not hurt her, but if only issue is size and not fear of large men, then would work against her.

WARRANTY OF HABITABILITY:  Did L violate T's right to a habitable place?  Will de-pend on waiver argument.  Assuming T cannot waive, L has a duty in common law and depending on juris. poss.  statutory duty to keep the place up to a min. quality of habitability.  Plaster falling from above, water leaking in etc. would go to it not being habitable.  Additionally, we would have to check the housing code. If the housing code or statutes have lang. about plumbing, habitability, etc., T may have a de-fense that lease to him is illegale b/c of housing code vio-lations, but court is not going to like this after all, T may have violated Johnson.  Spinning this around would be difficult.

EVICTION:  Was T evicted?  L sent him a threatening letter of eviction and refused to sub to Alan so maybe T thought he was evict-ed.  He was "furious"  and got up and left.  Perhaps he was furious at being evicted.  On the other hand L never offici-ally evicted T.  This is an important distinction for at least two reasons. (A) if T was evicted, L might have vio-lated T's right to cure the violations of the lease.  (B)if T was or was not evicted will be important w/ mitigating damgages.

(A)  Most jurisdictions and common law allows T to cure violations of a lease.  L is required to notify T, which L did, and allow T to cure problem, which L did not do if she did in fact evict him.  If L brings an action against T, T would be able to defend on these grounds.

(B)  Did L have a duty to mitigate damages?  Assuming that T is unable to raise any of the issues discussed as a defense (on any others I left out) the question becomes how much is T liable for?  In the past most courts and jurisdictions would answer that L is under no obligation to find a new T to finish out T's lease.  Thus, she could at least sue for breach of contract for each months rent. (FLA allows this)

On the other hand, the modern trend, especially  for residential properties, is for the L to make reasonable ef-forts to get a new tenant.  why?  Well, shortage of housing, efficent use of property, etc. all go to requiring this.  (Facts tell us that L Did not try to rent T's  remainder).  L's are also in a position to best handle these types of problems. L's are experienced in finding T's etc. On the other hand, this particular T had no problem that we know of selling the place and had someone available to rent it so if T was in the best postion to rent it out, perhaps count will not frown as much on L's lack of mitigating damages.

CONCLUSION:  L's remedies and T's defenses will to a lange  part depend on statutory requirments, case law specific so that jurisdiction and the housing code.  A grand style standards type court will also look into the policy and situational equities of the situation: need for housing, L's past, L and T's bargaining positions, possible discrimination on L's behalf (gender), etc.. will all have to be, or at least could be, taken into account by the count.  A standards judge will be able to ask what was leg purpose and what would they have intended in this situation.  On the other hand, a count looking for rules will decide one way or ano-ther.  Thsse have less likelhood of judicial activism and increase other people's ability to predict what the court will do in a similar case.  [MF: This last Para. is a little vague and disconnected to the problem, though the points about bargaining piower and checking legislative intent are important]

Question 4G:  Model #2:  Laura's remedies and rights against Tony for sale of home

L remedies against T from renting:  When L complained to T to pay for the repairs and he refused, she had a right to evict him.  Under most states law, if a tenant fails to live up to agreement after receiv-ing notice then the landlord is entitled to evict the ten-ant.  Some states require that this be in writing and state what the landlord is complaining of and why they are evict-ing.  If L followed the established procedure then she was entitled to evict T.

T could claim that the lease was illegal.  There is an implied warranty of habitability in leases.  Hilder  The requirements to tell if a place is livable are in the building code.  Substantial violations of the building code would make the place unihabitable.  Here, with the plumbing leak-ing and the plaster falling it would seem that the viola-tions must be enough to make it uninhabitable.  Brown says a lease entered into in violation of the housing code, at the time it is made, is an illegal lease.  Therefore, T could say this lease is illegal because L knew of these condi-tions.  Tony could claim he did not know of the conditions because he did not live in that unit.

L could say the lease is not illegal because the conditions in the duplex are not uninhabitable.  The conditions are only minor violations at the house code and the duplex is still able to be lived in.  Also T knew of the problems before he entered into the lease because he used to own the place, and should not be allowed to use it as a defense.

T could defend his non-payment of rent as a way in which he wanted to protest the conditions in the duplex and he is entitled to withhold rent until conditions improve.  He could say the repairs were not his obligation because the bathroom that needed repair was hers and the effects of that leak were what was causing the violations in his room, and therefore caused the conditions that led him to withhold his rent.

T also could say he was only by the lease obligated for repairs, not for replacing the pipes.  The difference between replacing and repairing, is a big difference and the owners should be responsible for such expenses.  T also could say that the complaints were not in writing and were not specifically addressed to any problem.  Most state law requires that complaints be in certain and tell the tenant the condition that they are in violation of.

T could also argue that the conditions as they existed denied his quiet enjoyment of the property and the actions were enough to cause an constructive eviction.  Reste Realty.  For a constructive eviction, T must show that there was a substantial breach and he vacated the palce in a reasona-ble amount of time.  There might be a breach here at his quiet enjoyment, but it does not seem to be enough to be substantial.  He is still able to use and enjoy the duplex in a normal matter.  The conditions that exist do not seem to indicate a substantial breach.  Also T must face the problem that he knew about the conditions before he rented the place, and this might deny him the use of this remedy.  

T could also claim that the agreement between himself and Alan was not a sublease but an assignment and therefore not covered with the provision in the lease.  An assignment is a transfer at all the right from one to another.  The agreement between Alan and T would not be a sublease because it appears to cover the entire remaining part of the lease.  L could claim that although the lease says no sublease, what it really meant was no transfer to another party without permission.  When you look to see if there is a sublease or an assignment you should look at the intentions of the par-ties, not just the words.  Ernst.  Here the agreement was to give her the opportunity to see all people who might rent the place, before they do.  She had an important interest in who lived there, she could say, because it was such a close setting and she only wanted people next to her that she could live with.  To her it was very important with whom she made contracts with and this clause saved her the right to make contracts with those people she picked.  She picked Blanche, over Alan because she perferred a female.

Tony could counter this by saying L was the one who made the terms of the contract and if she wanted to include sublease then she should have expressed it in the contract Court often interpret contracts against the parties that wrote them.  L owned many other rental properties and should have known the difference between a sublease and assignment; anyone who rents property should be familar with the differ-ences.

But even in the likely provision that the provision was upheld, to deny a sublease there must be a commercially reasonable reason.  Kendall. The reason why L denied Alan the right to move in does not appear to be based on any commer-cially reasonable reason and appears due to the fact she has a problem with T, and does not want him to get out of his lease.  The reason she denied Alan was in part due to size, L stated, but then when she re-rented the place the person was the same size as Alan and therfore size did not play a factor as she said. 

If L prefers Blanche over Alan because she was a female and not a male, then depending on local law Alan could claim he was denied housing because of his sex.  It is against the law to deny someone housing based on sex, race, or national origin and claim you denied them housing for some other rea-son. Marable.  The reasons why L said she denied Alan the place was because of his size and he reminded her of her ex boy friend.  But then she rented the palce to a female, who was the same height and weight as Alan, therfore the size was not the factor why she did not rent to Alan, and his sex could be the reason.

Some states have different housing discrimination laws that apply to private homes and duplexes.  This is because of the close and intimate nature of those types of units and land-lords must be free to rent to people they are confortable with.  If there is such a law that controls over this situa-tion then Alan could bring suit.  Alan might also have a 28 usc 1981 action if he belongs to one of the suspect classes that section covers. 

Question 4R [Spring 16:  Public Use; Adverse Possession]
Professor’s Comments:  Eminent Domain Issue:  What I Was Looking For

Clear & Significant Benefit:  This test requires you to enumerate the benefits of the program, then to discuss whether they are clear (as opposed to speculative) and significant (as opposed to marginal).  

Benefits?:  Program will facilitate production of an enzyme that cures some skin cancers.  Helpful to be specific about what the benefits are:  e.g., benefits patients by extending lives and improving quality of life (less itching/pain/disfigurement), benefiting patient’s families/friends by allowing more time with patients, maybe benefiting society by getting more productive time from patients.  

Clear?:  Problem says effectiveness of enzyme “proven”, so usefulness of treatment is not  speculative.  Perhaps need a condition guaranteeing T uses for ivy growing (like no resale condition in Midkiff), otherwise possible that no enzyme would be produced so benefits speculative.

Significant?:  Although courts probably comfortable with improving health as significant benefit, helpful to note that how significant depends on lots of facts outside problem.  You might have mentioned, e.g., how common the cancers are that ivy cures (more people saved = more significant); whether other effective treatments exist for same cancers (if so, maybe little change in people’s lives, so marginal); whether ivy grows well lots of places (if so, maybe sufficient quantities to get all benefits without Em.Dom.); how much enzyme produced by each ivy plant compared to amount needed for treatment (if 10 acres of ivy needed to treat one person, maybe program won’t help many people).  Might also compare to Poletown:  benefit was economic health of a whole city; probably would need to treat a fair number of people to be as significant.

Public is Primary Beneficiary:  This test requires you to compare benefit to private player (T’s profits) with the public benefits enumerated under the first Poletown test.   You should note that the same factors that determine the significance of the benefit also affect this analysis; the more significant the benefit, the more likely it is to be primary.  Helpful to engage in some attempt to balance:  e.g., “Because we value health and human life so highly, if even a few people are cured by the ivy, we should consider this the “primary” benefit  as compared to the merely monetary gains of T.”  Could also compare to Poletown.  E.g., “Poletown found gain to economy of Detroit ‘primary’ v. GM profits.  Here, health gains arguably more important than economic (should value lives above $) and T getting less benefit than GM because paying market value, not receiving huge subsidy.  Thus, even stronger case here for public as primary.”

Eminent Domain Issue:  Common Problems

Staying Within the Scope of the Question:  Many students improperly made arguments from Midkiff, Seattle, and the Poletown dissent.  I told you that the parties had challenged the program under the Public Use clause of the state constitution and that the state interpreted this clause like Poletown.  Thus, the only tests that you should have applied were those from the Poletown majority. Midkiff interprets the federal constitution and would not govern this problem.  Tests from In re Seattle are different from those in Poletown and would not govern.  Although Poletown dissent tests are in some sense “standards from Poletown,” in this context, they were non-responsive.
  The ordinary legal meaning of “X court  applies the rule from Y case” is the rule stated in the majority opinion.  The majority is the only binding part of a case; if you “apply” the case, you apply the majority’s rule.  

Staying Within Focus of Tests:  Many students made points that were not tied directly (or at all) to the terms of the legal tests.  For example, almost nobody attempted any kind of balancing when applying the primary beneficiary test.  On the other hand, many students talked about benefits to T under “clear and significant,” a test I view as focused entirely on the public’s benefit.

One-Sided or Conclusory Discussion:  Many students made arguments only in favor of the state or made arguments that simply restated the language of the test without support (“Obviously the benefit here is significant.”)  Defend your positions with specific facts and arguments.  Look hard for the best arguments for each party to a dispute. 

Adverse Possession Issue:  What I Was Looking For

1.  Statute of Limitations:  Length of statute key to outcome.  If greater than 13 yrs (e.g., Penn 21) C can’t adversely possess.  If statute less than 7 years, B’s re-entry irrelevant; C would have completed adverse possession before that.  If statute = 7 years (FL), B’s re-entry irrelevant if more than seven years from date of A’s first entry (unclear from problem).  Otherwise, adv. poss. only possible if B’s re-entry doesn’t toll statute.

2.  Ordinary Usage (Actual/Continuous): Both Linck and Howard ask about ordinary use for this type of land.  Room for a long discussion here:  what is ordinary use of 5-acre wooded lot?  Nature preserve?  House?  May depend on where lot is (wilderness?  near suburbs?)  Linck allowed adverse possession with color of title on very spotty possession in terms of both actual & continuous.  This is even less.  Should Linck be pushed this far?  Lots to say here.

3.  Exclusivity: Should jogging toll statute of limitations?  He is using it the same way he always did but use is consistent with trespass and isn’t connected to the land (not building, residing, growing, etc.)  Room for discussion as to whether jogging for two weeks in 13 years is sufficient.

4.  Less Important Issues:  I thought the other elements deserved less time than those noted above.  My sense of the relevant analysis follows:

a.  Other tests for actual:  If state requires cultivation, enclosure, improvements (NY, FL), she didn’t.


b.  open & notorious:  Normally just means visible on surface of property.  Her uses were visible.  If she had done them everyday, three times a day, this element would be met.  That suggests that gaps between use should be dealt with under continuous, not open & notorious.


c.  adverse/hostile:  Normally means without owner’s permission.  No permission here.  To the extent it means use as though you are the owner (Linck), should be met.  She believes she owns it.


d.  state of mind:  All jurisdictions treat good faith belief in color of title as sufficient.  States requiring “bad” state of mind do so only for cases without color of title.


e.  color of title:  Her deed is color of title here.  Might note the consequences:  lower threshold for actual, constructive adverse possession, etc.

Adverse Possession Issue:  Common Problems

1.  Staying Within Scope of Element Under Discussion:  Each element has particular types of facts that it examines.  Helpful to begin discussion with definition of element or other indication of its focus and then to make sure you stay within that focus.  Several students, under the heading of one element, talked about facts related to another element, or simply listed facts without a clear indication of their legal relevance.   

2.  Equal Time:  Several students discussed each element for approximately the same amount of time.  This is never a good idea.  It is impossible to write a question in which all the elements are seriously contested; some of them will always be harder to resolve than the others.  Try to find (and spend more time on) more contested issues.

3.  Conclusory Statements:  Many students rushed through the elements and just announced the results (like sports tickers).  How many points do you really think you’ll get on an open book test for “Continuous: Yes.”?  If you’re really pressed for time, do fewer elements and at least put down a rule or some facts for each.

Question 4R: Model #1 (Eminent Domain Issue Only):  This student probably did the best job raising pro and con arguments for each prong of the test, but needed to stick more closely to the language of the tests.  Poletown majority used 2 criteria for determining whether eminent domain is valid.
 First, is there a clear and significant public benefit? Yes:
 Cancer is obviously a rampant problem for the public, little has been found to treat it.  Since the enzyme can be found at Waldenacre, it should be extracted, since little else is found to help cancer patients. However, not everyone suffers from cancer, so not everyone would benefit from this enzyme.  Furthermore, only some skin cancers are treated with this enzyme, so the population of beneficiaries is reduced even more.  On the other hand, lending more support to the use of eminent domain, society as a whole benefits from saving lives, for these lives may be of future inventors, scientists, lawyers, etc.

Second test primary beneficiary = public? Yes: Poletown majority found MI to be the primary beneficiary in that new jobs were to be created.  The economy surrounding the plant would thus flourish.
  Here, too, enzyme is to treat any individual with that type of skin cancer.  Since anyone is susceptible to cancer, primary beneficiary is the public. However, since the enzyme is very profitable, it means it costs a lot.  Therefore only those that can afford it will benefit. Furthermore, Tao will benefit significantly in profits. This private benefit, although not taken to defeat use of eminent domain in Poletown, may, if substantial enough, be seen to be too great and thus disallow eminent domain. This argument maybe strong here if it can be shown that there is other land that contains this enzyme, and thus eminent domain is not necessary.  But, then again, people may not just volunteer to give up their land, so eminent domain is needed.

Question 4R: Model #2 (Eminent Domain Issue Only):  This student makes a number of useful points about the problem that were not raised by Student #1.  Like Student #1, #2 could stick more closely to the language of the relevant tests.  #2 also needs to explore possible counter-arguments at more length:  Poletown majority opinion std: (a) Clear & Significant Public use
 - the land is needed to extract an enzyme from a plant that grows only there.  This enzyme is effective for treating cancers. Since cancer is a widespread & especially dangerous disease, the State has a pressing concern to find remedies for it.  Since the enzyme proved effective in accomplishing this goal, it seems the state has made its case in establishing this factor. The treatment of cancer is a significant public concern, and since the ivy enzyme has been shown to be effective, it is clearly of value to the state.
  However, more information is needed about statistical effectiveness of the enzyme.

(b) Public Primary Beneficiary - The state is using its Eminent domain  power to buy the land only to resell it to Tao Chemical Co.  This company is primarily interested in profit.  Thus one may argue the State is using its power to help one company achieve more profit, which is clearly not what Eminent Domain was intended for. However, to evaluate the state’s actions, one needs to examine the underlying reasons for the state’s use of Eminent domain.  Just as in Poletown, the State was using its power to condemn land & turn it over to private hands.  The state’s rationale was that it would subsequently lead to a great benefit to society, i.e. more jobs. In this case, the use the state is interested in is the treatment for cancer.  The State is interested in this for its citizens.  The Co. is not developing this for its own use, but rather for the multitudes of patients who may benefit from this treatment.
  Without the private co. investment, this treatment may never be developed.  Therefore, the State has demonstrated that its use of Eminent Domain will serve a public purpose & the public will be primarily benefited.
  That one co. will make profit in the process is a necessary condition to accomplish this public use.
 

Question 4R: Model #5 (Adverse Possession Issue Only):  This student sees all major issues, organizes well, and makes a pretty good attempt to argue both sides.  Could go into considerably more depth on key contested issues (normal use; exclusive).  Another issue that needs to be addressed is adverse possession.
  If we assume that B is the record holder of the deed, then we must consider if C would be entitled to the land though adverse possession.
  First, we would need to know the statutory time requirement for adverse possession. 
  We know C purchased the land in 1986 and that the government took the land in 1999.  If the statute of limitations is longer than 13 years, then C could not acquire the ownership of Waldenacre though adverse possession (AP).  If we consider the statute of limitations to be 13 years or less, then we do have to consider whether C adversely possessed the land:

Actual - C entered the land, but used it Asporadically@, bringing her class and nieces onto it a few times a year.
  It might be that this is enough use of the property if that is the typical use that is given to property in Nature (Alaska, Kunto). If this is not sufficient use, C could not have adversely possessed the land. One argument for C is that B=s use of his land was very minimal.  This may help C because a) it shows she conforms to typical use to constitute actual use b) if, as a mater of policy, Nature courts wish to see land used and the sleeping owner punished, then C can argue she used land more than B.

Open/Notorious - Assuming B is one rightful owner, was he aware that C was there?  We know only at this point that in the time C was there, B returned to do laps on the property. Given her limited use of the land B might not realize C was there, thus her AP would not be open or notorious.
 

Continuous  The primary concern for C is that she did not remain continuously on the land.  She only came a couple of times during the year.  However, this may be typical of Nature, and so C would still meet continuous requirement.  In Kunto court considered that seasonal use of a summer home was within continuous element.

Exclusive  Again, that B came back presents a problem for C.  If, However, Nature is like Pennsylvania, it may require that B re-assert his claim to the land by filing a claim within a certain time of his return.
  

Hostile - it appears C does meet this requirement because she did not have B=s permission to be on the land.

Color of title - C was on Waldenacre under color of title.  She believed she owned the land and had the deed to prove it.  This can reduce her burden of proof with respect to the actual element.  If she believes she has title, then she may not feel the need to be on the land or make improvements to it.

Question 4R: Model #6 (Adverse Possession Issue Only): Although this answer is quite one-sided, the student does a good job presenting detailed defenses of the positions taken, doing an especially nice job comparing the facts of cases to the facts here.  Note also:  the introduction and conclusion are unnecessarily wordy.  The eminent domain compensation should go to B b/c C has not adversely possessed the property.  To adversely possess, C must have (1) actual use (2) open and notorious use (3) continuous (4) exclusive and (5) hostile.
  

While C may have continuous and hostilely possessed the property, the other 3 elements have not been met.
  C continuously used the property over the years, even though she wasn’t there all the time b/c she used this wooded area as a normal owner would.
  The use was also hostile b/c B did not give her permission.

However, most significantly the use by C was not actual.  Physical possession is required which generally entails cultivation or structural improvement. In VanValkenburgh, structures such as a chicken coop were not enough to be actual, here nothing was built and no cultivation.  While in the Alaska Bank case, the ct. found that a small amt. of improvement was actually required on wooded and not normally-used property, some structural improvements were made. There, the defendant actually built a fence to keep out boy scouts.  Here C did not grow or build anything at all on the property so her use is not actual.  While she does have color of title and the requirement of actual may be lessened, she must actually physically possess the property w/ some sort of structure or garden.
  

Secondly, the use was not open and notorious for many of the same reasons.  C only used the property sporadically which still constitutes continuous b/c of the normal use of a wooded property doesn’t require use all the time, but C left no structures or gardens, no physical possession, that would have caused B to think that someone else was using the land when he visited.

Finally, the use was not exclusive b/c B interrupted her use for 2 weeks.  This means that the statute of limitations for adverse possession would begin in 1993 and 6 years (in 1999) is probably not long enough to meet the statute of limitations.
  Cts. have found that storing materials or property only for 3 weeks can interrupt the continuity so it makes sense that B=s jogging there for 2 weeks would also interrupt the statute.  However, if the Nature is a jurisdiction like Pennsylvania, B may have only had a year to bring a claim against C, in which case the exclusive element would have been met.
 

However, most significantly C=s use was not actual b/c it did not leave physical evidence in the form of cultivation or structural improvement, which also affected the open and notorious element.

Question 4U [Spring 16: Landlord-Tenant Issues, Some of Which We Covered]

Professor’s Comments:  What I Was Looking For:  The problem contained four major clusters of issues, which are briefly summarized below:   

(1) Broken Deck:  Habitability & Related Issues:  You could address responsibility and liability for the broken deck through several different doctrines:

· Breach of Contract (lease requires a “usable” deck).

· Breach of Implied Warranty of Habitability (might apply where specifically contracted for, luxury housing, and safety issues).

· Breach of Implied Warranty of Suitability (might apply where C had notice of R’s purpose in buying house and deck specifically negotiated for).

· Actual Partial Eviction (if C responsible to fix/clean-up broken deck, failure to do so leaves “landlord’s” mess in backyard, rendering part of property unusable)

· Constructive Eviction/Breach of Covenant of Quiet Use and Enjoyment (seems unlikely because most of premises still usable and R is not cut off from primary intended use as residence; however, court might find deck integral to purpose of lease).

You then need to have some discussion of remedies for breach of any or all of the above: Was entitled to simply end the lease? What would be the appropriate damages? 

(2) Rejection of Assignee:  In some jurisdictions, C can only withhold consent for commercially reasonable reasons.  You should have noted that this rule doesn’t apply everywhere, then discussed the outcome if it did apply.  You should have assessed both of the reasons she provided; if either is reasonable, she probably will be allowed to reject.  

Common Problems:  (1) Discussing Uncontested Issues:  Many of you spent a lot of energy addressing issues that would not be contested by the parties.  For example, neither party is likely to claim that the agreement was a license rather than a lease; it is an agreement regarding a residence embodied in a form lease for a specific term.  Moreover, both parties will claim rights based on the landlord tenant relationship.  

In addition, many of you spent time discussing issues that were made irrelevant by the circumstances of the case.  For example, the appropriate remedy for breach of the IWH doesn’t really matter in the posture in which the case would arise.  R might have been able to repair-and-deduct, but he didn’t.  He might not have had the right to withhold rent (as opposed to suing for damages  afterward) but he did.  Because this lawsuit takes place after the lease term has expired, it simply will focus on the extent he was entitled to some reduction in the rent and will award damages either to R or C depending on whether he has already paid her enough.  

Similarly, there was no need to discuss the various kinds of lawsuits C could bring to collect rent that was due.  Because the lease term already has expired, she simply sues for the full amount of back rent owing and the court can take into account her mitigation efforts for the entire period after R vacated. 

(2) Providing Rules and Policies without Application:  Many of your discussions of issues you identified consisted simply of listing the relevant rules, sometimes providing the policies behind the rules.  Although you received a little bit of credit for correctly memorizing rules, to get higher than a minimally passing grade on this question, you needed to apply the rules to the facts. Many of the issues in the question unintentionally proved to be traps that allowed you to write a long paragraph or two without actually saying anything about the problem.  This was true particularly of the various tort rules and the several rules about the application of the duty to mitigate. As a general rule on an issue-spotting question, you should immediately apply to the facts any rule or policy you mention.  Remember that your task on an exam is not to show me how many rules you have memorized, but to show me that you know how to use the rules. 

(3) Doing One-Sided Analysis:  As with the short problems, I rewarded people who found serious arguments for both parties on major issues.  Many of you were much too fast to resolve some of the issues in the question.  For example, many of you were certain that C would be liable in tort.  However, if the deck fell over because some of the wood or hardware contained latent defects, she probably would not be liable even if she participated extensively in the construction process.  Similarly, many of you were certain that C’s rejection of M was unreasonable.  However, a court would likely be quite sympathetic with the notion that she shouldn’t have to rent the house next door to her own residence to someone whose appearance makes her very uncomfortable (so long as she wasn’t violating an anti-discrimination statute).

Model Answers:  The first model is very strong.  It is very well-organized and does a good job both presenting arguments about which rules are best and applying the rules to the facts of the problem.  It also made about twice as many relevant points as the class average.  The second model is not quite as good, but does quite solid work on all of the major issues, including very good analysis of the parties’ responsibility for repair of the deck and of the reasonableness of C’s rejection of M as an assignee.  

Question 4U: Student Answer #1:  
IWH:   (1) Does It Apply?:  The IWH ensures that premises are minimally safe, that all "vital" functions are served, and that no housing statutes or codes are broken.  Marini stated that “vital” varies depending on the amount of rent and type of property.  However, Wade suggested that the IWH does not require perfection.  Here, the deck is a somewhat luxury-like item - it is not as vital as, for example, a toilet or heating/electricity.  However, the deck was a reason that R decided to rent.  R told C that he intended to throw large parties - this suggests that one of the purposes required a usable deck.  But, C can argue that all of the bare living essentials are nevertheless met.  If the deck was to be used to entertain clients, she can argue that it was commercial in nature, and that the IWH does not extend to commercial cases.  However, he could argue that even if the guests were clients, Davidow requires an implied warranty of suitability.  Because the deck was unsuitable to use for parties, it was a breach of that as well.  Overall, this seems to be a breach, as it was a part of the negotiated deal, is a high-priced house, and deck completely does not serve its intended purpose.

(2) Rent Abatement:  If IWH applies there are 3 different calculations for rent abatement: expectation damages, out-of-pocket damages, % diminution.  R should argue expectation damages should apply as he is someone who negotiated in a good deal - if C estimated the value at $1,800 without the deck, and R rented for $1,800 with the deck, he got a bargain and should be able to reap the benefits.  C should argue that the expectation damages will be too speculative, that out-of-pocket would be best because that is the price they decided was fair.  It seems overall that the deck was worth $300 to R - that would mean that using either calculation, probably the result would be the same (even with percentage diminution because the percentage would likely be 16%-1/6 of the value.)

(3) Notice:  Under some statutes, R would be required to give written notice before withholding rent or breaking a lease. See Fla Stats. He only gave oral notice here, which may be insufficient.  

Assignability: R can claim that C unreasonably withheld consent under Hinky.  If the jurisdiction does not apply Hinky, and instead applies Epstein (the traditional rule), R has no claim here.  R will argue that this non-consent was unreasonable under Hinky because it was arbitrary.  Mike  is more likely to be able to pay rent because he is a partner, not an associate like R.  C already rented to a lawyer - there is no good reason not to rent to another lawyer.  There is no reason for her to believe that M cannot pay or will be a disruptive tenant.  Also, allowing assignability will protect alienability of land.

But C can argue that since she lives next door, the added personal relationship and her personal discomfort with Mike's appearance is reason enough to withhold consent.  She would be able to refuse to rent to M under the FHA - so why should assignability be any different?  Also, she can argue that Hinky applies only to commercial tenants with long leases and that having a vacant storefront causes a lot more economic harm to the neighborhood than one empty house.  R should honor his contractual commitment, pay the rent owed (which is much more than a mere rent abatement under the IWH would be), and Epstein should be followed.  Overall, C's personal problems with people who look like M and the fact that Hinky applies to commercial makes it likely that a court will allow her to withhold consent, unless the court puts an extremely high value on free alienability and discouraging vacancy.

Question 4U: Student Answer #2:   C will argue that R owes her rent for October and November and that he owes her rent for the remainder of his lease (5 additional months).  R will counter that C is responsible for his injuries for building a faulty deck, that she did not repair the deck, that she unreasonably withheld consent when he proposed a transferee, and that she failed to mitigate her damages by making reasonable efforts to find a new tenant.

R agreed to pay $1,800 a month but C also promised to build him a usable deck.  She did build a deck, but it collapsed only a few days after it was finished, so R can say it was not usable.  (Was clause about deck valid since on back of lease?  Did both initial it?)  C might even claim that the collapse of the deck is R's fault, as it occurred after he placed numerous items on it, perhaps over-burdening it.

Assuming that unusability is C's fault, is this a material breach that allows R to terminate the lease, or a minor one that might justify only withholding some rent, or repairing deck at his own expense and deducting it from rent?  C could say the house is perfectly usable without the deck.  An IWH, if there is one, wouldn't require a house to have a deck.  R would counter that where there is a deck, it should be usable, not broken down.  Also, in this case, the deck was an important part of the agreement.  He wanted it so he could throw large parties, and the deck was a specifically negotiated provision of the lease.  He can say he wouldn't have signed lease without deck provision.  Also, if there is IWH in this jurisdiction, it is implied a deck is safe to walk on.  Also, repairs would be the duty of landlord where there is an IWH.  Besides, this is more than just repairing a deck.  It sounds as if it amounts to replacing the deck, which sounds more like a landlord's duty than a tenant's.  Because of the importance of the deck to the initial deal, R will probably win on the issue of the deck being a major breach that justified his terminating the lease.

R would have an additional argument that the collapsed deck amounts to a partial eviction, that because it was unusable and the collapse made the whole area unusable, he was effectively evicted from using the area where the deck was placed.  As the deck was a major factor in the bargain, this would strengthen his case against C.  C. can counter that there were no problems with the house itself, and one still has a place to live even if it doesn't have a deck.  A deck is hardly necessary to habitability.

R can also argue that C unreasonably withheld consent to his proposed assignee/sublessee Mike, who offered to "take over" R's lease (sound more like assignment than sublease).  Though lease says R can assign only with C's consent, many jurisdictions hold that consent cannot be unreasonably withheld.  If this is a jurisdiction where landlord can withhold for any reason, R has no case on this unless he can get the court to make a policy change (arguing tenant's right to freely alienate property).  

If the state requires the landlord to be reasonable, however, R can argue that C was not reasonable.  Since M is a partner at a law firm, he would most likely be able to pay the $1,800 per month rent.  C's objection that he looks like her sister's ex may be too subjective to be considered "reasonable."   (Would the average "reasonable" person object to M's looks?)  C can argue that she gets more leeway for her subjective dislike because she resides next door, but this argument is not as strong as if she lived in a small (say, four unit) apartment building or even a duplex, where she would be in even closer contact with M.  Also, this jurisdiction may make a distinction about whether C can discriminate based on the number of properties she owns (facts say she owns "several").  If she owns above a certain number, she may not be able to discriminate.  A high premium is placed on the tenant's right to freely alienate property, so C's objection to M would probably be found unreasonable.

Question 4Z: [Spring 16: Right to Exclude and Easements Issues]

Professor’s Comments:  There were a lot of solid answers and the two models are both very good.  Here are comments on your work arranged by the three questions I asked:

Road Access:  Because K’s access began with a license that M ordinarily could revoke, she needs to have a theory about why she can keep using the road.  I gave a little credit to students who suggested that M might be able to stop the parades via nuisance law or zoning/permitting issues, but the question really targeted implied easements.  This is the kind of case I noted in class in which a permissive use and an easement by estoppel claim might evolve as time passes into an easement by prescription.  



A court is likely to find that M has notice of any implied easement.  L told him that K uses the road sometimes, which almost certainly creates a duty to inquire of K about the precise nature of her rights.   Note that you need to assess M’s notice at the time of sale; anything that happens afterward can’t help or hurt his status regarding notice.


1) Easement by Estoppel:  K will claim that, although her initial license was only for bad weather, she openly expanded her use of the road, and she reasonably assumed that L’s continued failure to object implied permission.  K will say that, in reliance on this permission and easy access to the fair in particular, she invested in extra buildings and livestock and her gypsy wagon.  M’s possible responses include the following:

· The jurisdiction might not recognize this type of easement.

· Not reasonable to rely on L’s silence where she may not have been aware of everything K was doing (room for 2-sided discussion) 

· Reliance not detrimental; other ways off ranch (depends on whether K’s expansion is dependent on use of the road for access to the fair or other aspects of her business.) Note that the scope of Karen’s easement depends on what is needed to take care of  reliance.

· K abandoned or reliance ended when K’s business collapsed.  Room to discuss  whether this constitutes abandonment and whether K’s rebuilding of the business might have been in reliance on continued use of the easement without objection.

2) Easement by Prescription:  K can argue that the many uses of the road that went beyond her explicit permission were adverse and that these uses were open and continuous until late 2004.  Her claim is plausible, depending on state law regarding the statute of limitations, the presumptions regarding permission, and the elements “exclusive” and “open & notorious.”  Note that she wouldn’t have claimed a public prescriptive easement, so the rules from Lyons were not applicable.   



The best answers noted that different uses began at different times (fair weather crossing in 1984; going to fair in 1989; wagon/parade in 1998) and so each use should be measured separately against the statute of limitations.  Because the scope of a prescriptive easement depends on the nature of the use during the statutory period, M may be able to stop the parade (if the statute of limitations is more than six years) even if he can’t stop ordinary fair weather crossings.(going on for 20 years).  Finally, I suspect that, if K has successfully acquired a prescriptive easement by late 2004, the subsequent two years of limited use in crisis conditions won’t be seen as abandonment.


3) Other Types of Servitudes



a) Express Easement/Scope Tests:  L’s oral permission could not create an express easement (you’d need a signed writing and other deed formalities).  The tests for scope of an express easement do not apply here.  The scope of an easement by estoppel is tied to the extent of the reliance.  The scope of a prescriptive easement is limited to the actual use during the statutory period.  As a matter of test technique, I’m highly unlikely to expect an extensive discussion of the scope tests in Question IV when they are the entire subject of  Question IIA.



b) Easements by Implication/Necessity:  These easements could only arise in the context of a division of a single parcel into Karen’s ranch and the two-acre residential lot, which didn’t happen here.

Access for Protest:  Most of you made straightforward arguments that L must give M access under JMB or the Schmid test  because the fair is a sufficiently public event and L allows access to political/charitable groups. Some of you also noted that the involvement of the County might increase M’s rights. Common problems included failure to understand the three Schmid factors, failure to recognize that many states don’t follow New Jersey’s standards from JMB/Schmid,  and the following:


1) Failure to Recognize L’s Best Arguments:  Many students gave very one-sided answers to this question favoring M.  You should at least have recognized that some jurisdictions don’t follow Schmid/JMB and might apply rules like those in Illinois noted in Brooke.  In addition, you could distinguish JMB at least three ways:

· If the fair charged a general admission fee, that would suggest a less open invitation than was true of the mall.

· The fair is only operating a couple of months of the year, which weakens the analogy to a town square.

· M’s message is an attack on the fair itself and JMB doesn’t address whether mall-owners have a duty to provide a forum for people directly attacking the mall or one of its tenants.

2) Role of Permissible Restrictions:  JMB and Shack both make clear that a landowner forced to admit people for policy reasons can impose reasonable restrictions on the outsiders’ access. While you could briefly refer to this in your answer, these restrictions are not very relevant to whether L ultimately has to admit M (unless you argue that L’s ability to impose these restrictions reduces her right to completely exclude).  You also need to avoid using permissible restrictions to avoid dealing with the harder questions built into the problem.  Two examples:

· A couple of students suggested that the political/charitable organizations had acquired permits and M had not.  Maybe this is true, but you then need to discuss whether L has to issue a permit to M if he applies.

· A couple of students suggested that, to get tossed out in 5 minutes, M must have engaged in violent or aggressive behavior.   I think this is a questionable factual assumption; it is easy to imagine fair security, with or without L’s approval, deciding that direct protest against the fair needed to be stopped at once.  In any event, of course L can exclude M if he is destroying property, shouting obscenities, and/or exposing himself to children.  Don’t use this possibility to avoid discussing what L can do if M is behaving himself.

Question 4Z: Student Answer #1:  [This is a terrific answer with a very strong sense of relevant doctrine and of how to use facts.  The discussion of access to the fair is particularly strong, and the 
Can M be prevented from protesting at fair? Under the nature and extent of the invitation, everyone was invited, and other political groups are passing out info.  In terms of the purpose of the fair, it is a public gathering place.  Almost everyone in town is there.  Also fair came into existance with help of govt. ( Is M gathering signatures to have fair moved, is this an essential part of public policy in the state?)  Are there other places he can go to communicate with the crowd.  But these are the people he needs to talk to, they are the ones causing him provblems.  How does the the fair advertise itself?  The politial groups suggest the fair organizers are encoraging an enviornment of free speech.  The intersection the M's activity with the purpose of the fair seems reasonable.  Despite the fact that he is advertising against the fair, he seems to be doing so in an appropriate manner.  He is off with the other protestors, and among the crowd, bothering people who are trapped in lines.  Additionally, the L had invited all kinds of people to come to the fair, craftsmen, artists, band.  This seems to be functioning as a public space (like it used to be).  The only evidence on L's side is that M is directly challenging the fair itself.  However, this probably would not be significant enough to keep M from protesting (especially if in New Jersey).

Can M prevent K from using Road: First, we need to figure out what the license could have become: K could argue that she either had an Easement by Estoppel EE or an easement by prescription EP.  
EE in that she repaired the road, after L allowed her to use it.  But L said she could only use in bad weather, and K used it in all weather.  If L knew she was using it in all weather, and did not object.  This could be apparent allowance.  Later, M did not say anything either.  Because the K's crew fixed the road, this would be detrimental reliance.  It seems reasonable if the apparant allowance is okay.


On the other side of this, if the easement was not to be used by K except in bad weather, and L did not apparently allow the use.  The use could be adverse, depending upon the juris.  (Is there a presumption of allowance or disallowance?)  This is a private action, so the presumption is more likely to be hostile.  L never stopped K from using the road in good weather.  What is the statute of limitations period?  K's use is clealy open and notorious, M has actual notice.  Also L's children knew of the use.  However, is the type of use the same as was being used previously?  K did not start the gypsy parade until 1998.  If AP had been established by this time, it is not clear the the parade use is okay.  Further, if she has an easement, did the two years in which the parade was not put on constitute abaondoment?   Probably not, unless K expressed intent to abandon the easement; it is every hard to do so otherwise.

There was notice provided to M; L said K would be using the land, but only in good weather (see anaylsis above).  L referred to K as the gyspy lady.  Gypsy's do crazy things, like have parades.  Should M have known from this comment?

Question 4Z: Student Answer #2:  [This model  is  just a little weaker than the first.  The discussion of easement-by-estoppel was probably the strongest in the class and the discussion access was quite solid.  A major weakness were that the student missed the prescriptive easement issue.].

Easement:  Where no formal written agreement was made between L & K, either a revocable license or an implied easement will likely be found to have existed and regulated K's use of the road.  It is possible that L intended K's use to only be a revocable license, and that she really only intended to allow K to use it when the weather was bad. However, given that L did not enforce the restriction that K only use the road when the whether was bad and that K has invested money in building structures on her property to take advantage of access to the private road, it is possible that during L's ownership of the 2 acre parcel, K acquired an EbyEstoppel. 


K in no way tried to hide her use of the private road outside the context of bad weather; instead she actively seeked attention by throwing a parade and building a brightly colored gypsy wagon. Given that L's children had seen the parade almost every year, her lack of notice seems unfounded. Even if she was busy and never saw the parade herself, it is likely that at some point over the years, L did hear about the parades either by her children or by members of the community at large (given that it was such a popular event). L's lack of actual knowledge about the scope of K's use of the private road was no fault of K's but rather the carelessness of L and K would argue that she should not be punished for relying on the constant lack of action by L especially given her reliance interest in continued used of the road.  K would also argue she has made investments in the road by patching it up and that she should reap the benefit of those investments so long as the road lasts. A response to that argument would be that she was only re-paying the land owner for her unauthorized use of the easement, repairing the damages that she caused by her overuse.


While such an easement by estoppel may have been upheld against L, it is possible that it would not be enforceable against M given K's lack of use during the period when she was rebuilding her business. If her reliance interest was wiped out with the destruction of her farm, and she abandonded the out of scope use of the road during that time period, she might have lost her right to re-use the easement for such purposes in the future. If her easement was an EbyE, then at the time she no longer had a reliance interest she would also have lost use of the easement in the manner necessary to maintain that interest, and have had no right to resume use later after rebuilding.


In such a case of abandonment of the use of the easement for non-weather related purposes, M might be likely to enforce a limitation upon K's use of the easement to those terms for which he received actual notice: only in bad weather. M had no notice of K's use of the easement for any other purpose and K's subsequent resumption of the use would not be binding upon M because K did not rely on any promises made by M that she would be allowed to resume use of the easement for parades. K might argue after the season where she did reassert her use given M's failure to respond to it, he too gave her an EbyE upon which she relied on for the rest of the fair. 

Right to Exclude:  An analysis of L's right to exclude M would likely include an application of the JMB Realty test given that the fair is a partially public space which invites the public to make use of its facilities. In a sense, like the shoppingmall in that case, the fair functions as a town center where people gather for several months of the year. While it would be dependent upon the rules of the jurisdiction (common law or civil rights act), L may have problems excluding M given the great numbers of people she does allow into the fair every day (its relatively public access), the joint ownership of the fair as a whole by her and the county, and given the fact that she allows other groups to set up booths already. M would argue that there would be no additional costs for providing security or adding tables to allow him to protest, such measures are already likely to have been taken for the purposes of the fair in general and given the use of the facilities by the chartitable and political groups. M will aslo assert that he is trying to provide information to other members of the community. M may not be the only one negatively affected by the noise and other harms of the fair and other county residents who are suffering in silence might benefit from knowing that someone else is being negatively harmed (Potential public nuisance suit if enough people are secretly upset?)  M would also stress the importance that at least some of the land is owned by the county and that as a publicly owned space, citizens should be afforded additional priviledges under the town center theory. 


L will likely argue that M's purpose in protesting is different from that of the other organizations currently allowed and different from the cases where the government limited an owner's ability to exlude protesters on the basis of the facility functioning as a town center. Here M is not simply trying to give general information to the public about an unrelated social cause, rather he is specifically attacking the business of L. Given that attack, the likelihood he will cause harm to L is much greater than the likelihood a general leafletter would cause to a mall. While in JMB the leaf-letter might have detracted from business due to people's distaste for protesters in general, here M's actions would directly threaten L's business by causing people to view the fair in an unfavorable light. M might argue that holding a sign does not mean he will cause damage (physical) to the property or that he will require L to provide additional security.

Question 4AB:  [Spring 16:  Includes Landlord-Tenant Issues, Most of Which We Covered]
Professor’s Comments: On overall score, the median was 11 and the mean was 11.2. As usual, I rewarded thorough two-sided discussion of key issues, thoughtful and thorough use of the facts in your discussion, clear presentation, and demonstrating an accurate understanding of the relevant law.  Common problems included one-sided analysis, unsupported conclusions, failure to tie arguments to appropriate legal authority, and treating portions of this Question as though it were Question I (simply listing questions for investigation without attempting to argue about the likely result given the info you had).  


(A) Holiday Display


(1) Sources of Legal Authority/Violations:  For S to evict G or stop the holiday display, he must rely on a specific violation of the lease or of the landlord-tenant statute (or on some other source of authority that we studied).  Here, the possibilities included:




(a) §83.52(6): deface, damage, impair: Attaching Homer to the roof or attaching the other ornaments might have damaged the property.  Many students were very certain there was no damage, but for all you know, G attached the sleigh to the roof with nine-inch nails or the installation broke a bunch of roof tiles.  Similarly, the method of attachment might leave defacing “scars” when the ornaments are removed.  The sleigh may be heavy enough to weaken the roof over time or may damage the house if blown around in a storm.  



(b) 83.52(7): Unreasonably disturb neighbors:  This would be S’s best claim if G’s display was noisy or the lights kept neighbors awake or if the display attracted a lot of people who just wanted to look at it.  Many of you raised similar arguments under nuisance law, but it is not clear that a landlord can bring a nuisance action for activity a tenant undertakes on the landlord’s own property.  Acting under the statute or the lease is likely to be both quicker and more effective.  I gave credit for discussions of nuisance that overlapped the more relevant claim under 83.52(7). 


(c) Lease Provision re Waste:  [Ignore for Spring 16]

(2) Remedies & Defenses


(a) Eviction:  83.56(2) (a) v. (b):  Whether S can evict under any of the theories described above depends on 83.56(2).  The models do a nice job making arguments about whether the conduct in question requires a right to cure or not.  Some students used the term “misuse” in 83.56(2)(a) to justify immediate eviction.  To do this successfully, you’d need to defend that the conduct should be considered “misuse.”  I think merely putting holiday lights on a rented house isn’t what the statute means by “misuse.”


(b) Waiver/Estoppel/Laches:  [Ignore for Spring 16]



(c) FHA Religious Discrimination Claim:  [Ignore for Spring 16]



(B) Refusal to Allow Transfer:  



(1) Was Stated Reason for Refusal Reasonable?





(a) Relevant Legal Background:  S is committed under the terms of the lease not to refuse transferees unreasonably.  Thus, Funk’s analysis of what to do when the lease doesn’t address this question is inapplicable.  





(b) Reasonableness of Refusal:  A landlord surely has a legitimate interest in whether the proposed transferee is able to afford the rent payments.
  B has two related points about why S’s decision here was unreasonable, both of which merited serious discussion.  First, how reliable is S’s information?  E.g., does he have an inside source in the company or did he overhear someone talking on the bus?  Second, even if S’s information is correct, how strongly does it indicate that B is likely to have trouble paying rent?  The model answers collectively do a nice job addressing the second question.  


(2) Was Stated Reason a Pretext for Discrimination?  [Ignore for Spring 16]

Question 4AB:  Student Answer #1:  This answer is a little disorganized, but includes strong substantive discussions on both parts.  The student saw lots of relevant points, garnering 120 checks (twice the class average) where the next best total was 100.  On Part A, the student provided two-sided discussions of waste, 83.52(6) & (7), the right to cure, and the possibility of religious discrim.  On Part B, the student provided the strongest discussion of discrim. in the class as well as solid work on reasonableness.


(A) Scott & Graham:  

Eviction/Opportunity to Cure:  The difference btw 83.56(2)(a) and (b) seems to be that (a) involves non-compliances that would be of a permanent or semi-permanent nature, while (b) involves violations that are quick & easy to cure, w/o leaving any lasting problems. (a) seems to be geared to preventing waste, while the violations of (b) don’t prevent the tenant from handing over the property in substantiality the same condition, which is why the tenant is given an opportunity to cure. 

If G has violated the lease, S would be able to at least give him notice of non-compliance. But to determine if S can evict, we need to know if there’s a good possibility of damage to the structure.  Damage would make 83.56(2)(a) applicable, which wouldn’t give G an opportunity to cure, allowing S to evict him. 

Waste/83.52(6):  Provision (M) of the lease prohibits waste.  The rule concerning waste is that the tenant has to return the property in substantially the same condition it was in when he took possession. S might argue that the Homer Claus amounts to affirmative waste b/c of the prospect that it’ll damage the roof of the house. If Homer is defacing or damaging the roof, that also violates 83.52(6). 

It’s possible that the damage has already been caused in which case S has a strong argument that G shouldn’t be given an opportunity to cure. If he damage hasn’t been caused, there’s still a chance that S can evict G, but G has an argument to make that S is being hysterical in his fears, b/c the display has already been up w/o incident. An argument G can make that he deserves an opportunity to cure is that the display won’t cause damage to the roof b/c the roof of the 2 family house is probably sturdier that the roof of a smaller structure and can support Homer’s weight.

Are there reasons besides Homer Claus for S’s objections? Do the other ornaments damage or deface the property? If the issue becomes one of mere defacement rather than of damage, (a) doesn’t apply (defacements not mentioned in its text). Even if S considers the display as an ugly defacement. it’s temporary in it’s nature (it’s up just for Xmas), so can probably be taken down easily. Therefore, (b) applies and G must have an opportunity to cure.

It would be a different matter if S’s concerns about damage to structure are warranted, in which case he might have a good argument that (a) applies, b/c the effects of putting Homer on the roof will last beyond Xmas, and might force him into large expenditures to repair, and or reduce the rental value. To answer this question , we need to know more facts, like what’s the roof like, how old it is, how large Homer is, if there are any other displays on other neighbor’s roof and how they compare to Homer (do they damage the roof?) That this is the first Xmas that G has put a display on the roof can provide an argument for either G or S. S might say that the roof wasn’t made to has such weight, which is why no one’s chosen to do it before; G might tell him to relax, b/c if no one’s done it before, then one time that a display is up there probably won’t cause lasting damage, compared to if the roof had taken on that much stress every year.

83.52(7)  Do Homer & the other ornaments disturb neighbors (83.52(7)) by say, bringing traffic (people who want to gawk at the display) or making it hard to sleep (b/c of the inordinate brightness of the lights?)


Discrimination:  Is S really concerned with damage or is S (Jewish) using that as a pretext to evict, b/c (for example) he objects to G’s display b/c it’s of a different religion. Discrimination might be an unlikely explanation b/c S has permitted w/o objection G’s display in prior years. Are there other displays in buildings S is leasing that are similar, that he didn’t object to?  Does S want G to take down the other parts of the display --- extra lights and other lawn ornaments ---- or just Homer? 

(B) Scott and Beshoy


Unreasonable Denial of Consent: The LL’s denial of consent to transfer can’t be unreasonable (Lease (Q); also Funk).  Funk held that it’s reasonable to deny consent if the transferee will harm the property, or if there were financial concerns about his ability to pay rent; but that it is unreasonable to deny consent based on caprice, personal, taste, sensibility, etc.  S’s express reason denying consent was the uncertainty of B’s income. If B’s working for a company w/ financial trouble, that might be a valid reason to withheld consent, b/c of the fear that he’ll lose his job. But just b/c a co. is having financial trouble doesn’t mean B will be laid off. Does he have seniority or is he new? Is he skilled or dispensable? Is the co. going to be sold to a solvent one or is it going totally out of business? B might argue that S had to have made these inquiries before denying consent. …
Question 4AB:  Student Answer #2:  This student demonstrated a good understanding of the legal context in both parts.  Part A is especially good, with very nice two-sided discussion of 83.52(6) & (7) and the right to cure.  Part B is not as strong, but has pretty good discussion of both major issues.

Removing the Decorations:

Destroying, Damaging, Defacing 83.52(6): With respect to removing the decorations, the question to be argued is whether or not the decorations are destroying, damaging, or defacing the landlords property which is specifically prohibited in the statute. S will argue that the Homer Santa is destroying his roof and needs to be taken down. The extent of the destruction of Homer would depend on what Homer is made out of. If Homer and the sleigh are made out of heavy materials, there is a good chance that the display could be causing damage. On the other hand, if homer and the sleigh are made out of sheets, like the waving signs at car dealers, there might be little argument that a lightweight sheet is going to destroy the roof.

S would argue that the tacky decorations viewed together are defacing his property.  GY would argue that his decorations are doing the opposite, that his deocrations are bringing joy and happiness to the community. Also, GY would argue that that his decorations are improving the aesthetics. Thus, the extent of the decorations needs to be taken into account. Even though they are described as very elaborate, how elaborate are the decorations. How much more larger of a display is there than prior years? If before he had only a 2 strings of lights and a reindeer in the lawn, does he now have 3 strings of light and 2 reindeer in the lawn? That would not be a huge difference and shouldn't be seen as defacing now because it did not before. On the other hand, if there are many more strings of lights and items on the lawn, S could argue that they are defacing the property because the tacky, cheap manner may harm the aesthetics of the community.

An important fact would be to what extent are the other tenants in the neighborhood putting up displays. If they are comparable to GY's, then GY would argue that he is just being consistent with everyone else in the neighborhood and that his only contributing the overall theme. On the other hand, if GY is the only person to put up large displays, then he might be interrupting the neighborhood and hurting the overall theme of the neighborhood which could be seen as defacing the property. 
Discrimination: If much of GY's display, other than Homer, is a nativity scene, it could be argued that he is being discriminated against because of his religion given that S is Jewish. S would argue that he accepts all religions and that if the nativity scene was there in past years, that the nativity scene now has no bearing on his decision. The religious make up of S’s tenants might help to determine whether or not GY is being discriminated against.

Disturbing Other Tenants 83.52(7):  If the nature of the display is disturbing other tenants then there may be more of a chance that GY would have to take it down. Some factors that may impact whether or not other tenants are being disturbed by the scene are as follows: time (if it is on all night might keep people awake), noise (if it is making a lot of noise it could disturb many people), light (if the light is very bright and intruding on other people's homes it might cause a problem), traffic (if people are coming to see his scene might cause negative traffic for his neighbors), and if the other neighbors have complained at all.  Also could look at past cases about what would be a breach of the peace in the jurisdiction under 83.52(7).
Evict (Opportunity to Cure or Not)

Not allowed to Cure: S could argue that the displays are similar to the non illustrative list of reasons that he should be able to evict immediately. S could say that putting up the displays is an intentional act creating an unreasonable burden. For years GY has put up a display that he may have known that bothers S, but continued to do it because S did make a fuss about it. However, this year, GY went beyond his normal display and expanded his display intentionally and created an unreasonable burden on the community to deal with the nuisance-like issues that come along with it as well as S's harms of not being able to exercise some of his benefits of an owner over GY. Also, S could argue that he is directly violating the lease provision of not commiting waste on the premises. S could say that all of the lights, noise, and displays are causing waste on the property. On the other hand, GY would argue that the displays in years past were of similar nature and the this year’s do not create any new unreasonable burden. The new features are merely an expression of his expanding holiday joy. Also, GY could argue that the unreasonable burden is only caused by S's personal taste in believing that his decorations are tacky.

Allowed to Cure:  GY could argue that his displays are more like the non illustrative list of things that he should have the right to cure before his is automatically evicted. GY could say that the displays are similar to that of a unauthorized pet or car because they are all easily removable. Although it would only take a few minutes to remove a cat from an apartment (depending on how nice the cat was), it may take a couple more hours to take down displays. Nevertheless, depending on the extent of the display, GY could arguably remove it in less than a day and the entire problem would be over. On the other hand, S might argue that it is not that curable that quickly because the main harm is done to the reputation of the community. S could argue that he might lose business because his community now has a reputation of allowing tacky displays for years and years.

(B) Transfer to Beshoy (BY):
Can Refuse Transfer: Courts have held that a landlord is allowed to refuse a transfer on the basis of financial insolvency. Thus, S could argue here that the uncertainty of BY's financial stability has shown up in the past with tenants and it has turned out bad for him. Perhaps BY works for a company such as Enron and S knows that not only will the company go down, but many of the workers will go down with the company also. On the other hand, BY could argue that just because the company might be hurting, does not meant that it is going to go out of business and that he is going to lose his job. BY could work for General Motors for all we know and it might have been hurting for a while, but it is on the upswing now. Further, BY could argue that the economy is cyclical and the company will be back on its feet in no time. Also, BY might have an inheritance or other assets that would keep him solvent even if he did lose his job. The background check performed could have involved a credit check that may have shown BY's solvency, which could support either side of the argument.

Personal Taste: Courts have held that the landlord cannot refuse a transfer based on personal taste. Here BY could argue that when he stated he liked GY's display, it went against S's personal taste and that was the reason that S refused to allow the transfer. On the other hand, S could argue that he was just trying to make conversation and that looking out the window at that display is always on his mind and it was the first thing he thought to say to make conversation with BY. Often a LL wants to make conversation with a potential tenant just to get a feel for what kind of person they are. [MAF:  Not lots of evidence to support this claim by B, but an interesting idea and solid analysis.] …
Question 4AB:  Student Answer #3: This student also demonstrated a good understanding of the legal context in both parts.  Part B is especially good, with very nice two-sided discussions of both major issues.  Part A provides some pretty good back and forth on all major issues without any great depth on any of them.  

(A) UNIT 295: Damage:  SS could argue that G is in violation of 83.52(6)  because his decorations are destroying the roof of the property. However, G could counter that there hasn't been any actual damage done yet. I think the best possible recourse for SS would be to tell G that he must take the Homer Santa Claus down before it ruins something because if it does ruin something he will be forced to evict him.
Unreasonable disturbance (83.52(7)) SS will argue that the display is an unreasonable disturbance and falls under the list in 83.56(2)(a) of things that GY should not be given an opportunity to cure. Are the decorations causing a disturbance or breach of peace? (do any other Ts complaint about the decoration?, what do the other decorations in the neighborhood look like, have they warranted any bad attention like traffic?). If none of these facts are true, it will be hard for SS to make a case for unreasonable disturbance. It particularly hurts him that he let it go on for 5 years, although SS could argue that they have gotten progressively worse and now they have crossed the line. If there were any disturbances in the neighborhood SS could argue that G should have known that these were a problem and taken them down before eviction, or at least lessen the display. If this year the display started causing traffic problems or bad attention SS would just have to warn him under 83.56. There may be a slight Nuisance case here but it would depend on more facts discussed in the points above. The facts as we have them now don't seem to indicate any disturbances besides the decorations being "tacky", an aesthetic harm that would be prob. be precluded from litigation.  G could argue that there absent zoning restrictions, he should be able as a matter of policy to be able to celebrate the Christmas as freely as he would like. …
 (B) UNIT 333: Reasonableness: The language of the lease is similar to the language implied in Funk that consent may not be unreasonably withheld. Under that language, concern about payment of the rent is a "reasonable concern". Even if the court were not using Funk, the Yeshiva case told us that concerns that every LL would care about are reasonable and payment is something every LL would care about. Therefore finances is probably a legitimate concern. However B hasn't lost his job yet, he might have savings that could cover him even if he did, so it not a guarantee that he won't be able to pay - seems like a prospective concern not a real one right now. The court could also argue that, in today's economy, every company seems to be having "some" financial difficulties. Further it seems B doesn't have bad credit or anything since his initial background check was fine. …
� You can usefully apply a dissent on an exam in the following situations:


(a) A question tells you to apply the dissent’s rule


(b) An issue-spotting question does not tell you what rule applies.  You then can say, “If the state follows the Poletown majority … But if the state applies the rule proposed by the Poletown dissent ….”


(c) An opinion/dissent question asks to decide which rule ought to apply to an issue discussed by a dissenting opinion we’ve read.  Your “majority” opinion can adopt the position of the earlier dissent.





� This sentence can be replaced with a shorter heading.


� Generally better to save your conclusion until after you’ve done analysis.


� Clever point re saving Einstein.  


� Always useful to discuss parallel to facts of case.  Here, might be more explicit about what those facts suggest about meaning of primary beneficiary.


� Good idea suggesting that the benefit to public is greater, the more eminent domain is necessary to achieve goals.  Although answer raises good points about the extent of the benefit on each side, needs to be more explicit about how to decide which benefits are “primary.”


� Careful with terminology; test examines “public benefit” not “public use.”


� Good detailing significance of ivy, but helpful to keep discussion focused on terms of the test: although you student terms “significant” and “clear,” the issue is not whether the “public concern” is significant, but whether the benefits from the ivy are “significant.”


� Good point re statistical effectiveness, but helpful to elaborate more. Might specify ways in which this might change result (few people helped; few types of cancer cured, etc.) 


� Student suggests parallel to GM and jobs; helpful to make it explicit:  “As in Poletown itself, the state anticipates a great benefit to society here …”


� Need to focus more tightly on test in this analysis.  Test asks you to compare the benefit to the public with the benefit to the private company.  Student doesn’t do that explicitly.  Also might push harder to find counterarguments.


� Nice point that the public benefit can’t be achieved w/o private profit.


� Can replace this sentence with a heading.


� Useful to clarify how adverse possession issue arises.


� Good beginning with statute of limitations.  Again, this sentence could be replaced with a subheading.


� Helpful to start with legal test before listing facts.


� Nice points re C’s use of land.  Room for more discussion of whether Linck test is met. Might note that under other tests (Fl. statute; Van Valk.) C does less well than under Linck.


� Misconstrues test.  Focus is whether the activity could be seen by somebody who was on the property (objective) , not whether B did or could have seen them given his minimal use (subjective).  E.g., if his jogging trail didn’t run by a cottage she had built, he wouldn’t see it, but still O&N.





� Good seeing relevant test and citing to Kunto.  Again, need to discuss in more depth whether test was met.


� Good seeing Penn statute issue.  Room to argue in depth whether B’s return is sufficient to break exclusivity.


� This is fine for this straightforward element.


� Good on color of title and consequences except that, while color of title does lower actual requirement, relevance of her understanding about what she had to do is not clear.  


� Intro paragraph not best use of time.  1st sentence can be replaced by a heading.  Rather than listing elements at outset, raise them one by one as you discuss them. Save time by using names of individual elements as subheadings.


�  No points for stating your conclusions (either on the whole issue or on individual elements) before you have done any analysis.


� Room to discuss more whether  this is the way a normal owner would use it.


� This is fine for this small issue.


� This is a nice discussion of actual; good use of facts and comparison to cases.  Might push harder on her best argument, which is that this may be normal use of nature preserve type property.


� Good point re open & notorious, although if a court decided that the actual & continuous requirements are met, it might hold that the uses she made were all visible to someone on surface because they all involved her physical presence on the land.


�  Need to be aware that if statute 7 years or less, she might have adversely possessed before he re-entered. Also helpful to discuss somewhere that if  statute is greater than 13 years, C loses (e.g., Penn: 21).


� Some good points in discussion of exclusive (comparison to 3 weeks; Penn statute).  Could discuss more whether jogging should count as an assertion of ownership.  It is a smaller act in some ways than the building materials (not constant presence) and it is the sort of thing that trespassers do all the time.


�  Long concluding sentence repeating points already made is not best use of time.


�  I hoped/expected somebody from Section C would argue that S rejected Beshoy simply because S was Rizk-averse, but I was sadly disappointed.


�  Quite a few students suggested that the strength of S’s interest depended on whether the transfer was an assignment or a sublease, because with a sublease, B would not be in privity with S and JJ would remain primarily responsible for the rent payments.  However, JJ remains responsible to S for rent either way and even if B is paying JJ rather than S, if B is unable to pay, S is, in the end, unlikely to get his rent money, particularly where JJ will be out of the jurisdiction.  





